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1 €qu iz | ¥ = 1 » e » \ '
requirement wij quantization levels are increases from 2 to 8, the relative bandwidih
a)

Remain same
b) Be doubled
C) Be H'ipled
) Be four times
865: ?{mﬂ T“OdLEI;llor ha? i,“p"“ message signal, m(t)=4sin(2r101)+5sin(2720t). If the step size is
' ;)' ;;gaxll-};l 1s the minimum sampling frequency to prevent the slope overload error.
b) 1600 Hz
¢) 6400 Hz
d) 5600 Hz

%3‘ (_:Dnslidﬂ a real-valued base-band signal x(1), band limited to 10 kHz. The Nyquist rate for
e signa

y(0) = x()x(1+3) is
a) 15 kHz
b) 30 kHz

c) 60kHz
d) 20kHz

Q4. For a PM modulator with a deviation sensitivity K = 2.5rad/V and a modulating signal vm(t)
= 2 cos(2n20001) , the peak phase deviation m will be
a) 1.25rad

b) 2.5rad
c) 5.0rad
d) 7.5rad
Q5. Aem(t)Cos(wt+0) is an example of
a) DSB-SC
b) SSB
c) Angle Modulation
d) DSB-FC
Q6. A Si doped with 10" em™ phosphorus atoms has an electron mobility of 1300 em?/V-s at

room temperature. How long does it take an average electron to drift 1um in given Si sample at
an electric field of 100V/cm?

a) 0.8ns
b) 0.8 ps
c) 0.8 us
d) 0.8 ms
Q7. Ebers-Moll model is applicable to

a) BJT

b) NMOS
¢c) UIT

d) JFET

Q8 Consider a common emitter current gain of f =150 and a base current ofig= _15 uA.
If 1i1£ {ransistor is biased in the forward active mode, the collector and emitter current will be
a) 2.25mA and 2.27mA
b) 3.25 mA and 2.27mA
¢) 2.25mA and 1.37 mA
d) 3.25mAand 1.37 mA
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Q9.£I1?CTsuﬁ:r::1llcili ‘(\1’1' the energy gap for an insulator is

b) between 2 ¢V 1y 3 eV

¢) more than 3 eV

d) between | ¢y 102V
Q10. Which of the 1,
}). [S;.I(‘)l:r«-';ﬁll"k-llffliﬁik:“‘i capacitance
3 Lm:vc:l“]mf-imm ;}cluy mul‘ lower dynamic power c:lm:-.al.lmpliun '

weshold voltages Select the correct answer using the code given below,

a) 1.2and3

b) land? only

¢) land3 only

d) 2and3 only

lowing are the advantages of silicon over Insulator (SOT)?

QI1. What is the drain current for a D-MOSFET having the characteristic values Inss of 10mA,
Vasemof —4 vand Vs of + 2V?

a) 225 mA
b) 17.5mA
c) 12.5mA
d) 2.5mA

Q12.When the reverse current in a Zener diode increases from 20mA to 30mA. the Zener voltage
changes from 5.6V to 5.65V. the Zener resistance is

a) 2 Ohm
b) 3 Ohm
c) 4 Ohm
d) 5 Ohm
Q13. A transistor connected in common-base configuration has
a) A low input resistance and a high output resistance
b) A high input resistance and a high output resistance
c) A high input resistance and a low output resistance
d) A low input resistance and a low output resistance
Q14. A capacitor behaves as
a) adcopen
b) an ac short
¢) adc open and an ac short
d) adec short and an ac open

Q15. The decimal value of the signed binary number 10101010 expressed in 2's complement
will be

a) —42
b) -116
c) -170
d) -86

Q16. In a p-MOSFET, the source is
a) heavily doped p type
b) lightly doped p type
c) heavily doped n type
d) lightly doped ntype
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a) short circuiy
b) complex impedence
) open circujy
d) eitheraorc

QI18. The reflection coeflficient on
a) 0.8
b) 1.1 '
c) 1.2
d) 7.5

QI9. The depth of penetration § of a plane electromagnetic wave incident normally on a good
COI!dllClor 15

alineis 0,5 £45°, The SWR is

) s
b) ——
e

2
C) J3frpe
),
Jinuo

Q20. The characteristic impedance of an 80 cm long lossless transmission line having L=0.25
pH / mand C =100 pF/m will be

a) 25Q

b) 40Q

c) 50Q

d) 80Q
Q21. The attenuation (magnitude) produced by a lead compensator at the frequency of maximum

phase lead wm =Vab is

c) vb—a

d) None of these

Q22. The lowest Eigen value of the 2 x 2 matrix [1 g] is

a) |

by 2

c) 3

d) 5
Q23. The solution of the differential equation
(1+yHdx= (tam'1 y —x)dy is

a) x=tan"'y +1+ce"tany

b) x =tan” y——1+ce““" Yy

c) x= -—tzln"‘1 y —1+ce™t" ty
—tan~ly

d) x-—-tan ly+1+ce
| +i)+log(1—i)is

Q24. The gcneral value of log (
a) log2 —4nmi
b) log2+ 4nmi
c) log2+ 2nmi
d) log2 - 2nmi

M ; I II -
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Q25. A commiltee A
that the commitee ?\E? is to be formed from among 4 girls and 5 boys. What is the pfﬂbah“i‘)"
ay 2/9 U have number of boys less than number of irls?
0 2 s less the grirls?
) d4/5
d) 16
Q?'G- “’qllle cale

. ulating inT i
a) al lmk‘lu:ndunll: :l{'::' in Thevenin's theorem and Norton equivalent
sources are made des
cad

b)
only curre
c) only \11:':.”“ sources are made dead
d) all ;'L1lt1 1-1110 sources are made dead
age and current sources are made dead

Q27. A nepati
: gative feedback .
What w ck system has a loop transfer function G(s)H(s) = K

" b (s+2)
tl be the v ' s(s—1)
alue of the gain K so that the damping ratio (&) for stable system is 0.707?

a) K<0
b) K>0
c) K>1
d) K<l

Q28. In the systen i
1 sho : .
be wn in figure, the input x(t)= sin(t). In steady state, the response y(t) will

X0 — =— [— Y@

5+1

a) %sin(r — 45%)
b) —sin(t +45°)
c) sin(t —45°)
d) sin(t+ 45°)
Q29. The gain margin of a system is 0 dB. It represents a
a) Stable
b) Unstable system
¢) Conditionally stable system
d) Marginally stable system
Q30, Zero initial conditions means that system is
a) Working with zero stored energy
b) Working with zero reference signal
c) Atrest and no energy is stored in any of its components

d) None of these

Q31. Consider the open loop (ransfer function of a system given below.
K

G(s)H(s) = GTras+2)(s2+6s+ 10)

The breakaway point in the root locus plot for the system are

a) 3 real
b) Only real
c) 1real, 2 complex
d) None

Q32. Fora two-port netwo
a) hiz= hai

rk, ‘e condition of Reciprocity in terms of h-parameter is

b) hiz=ha
¢y hiz=-ha
d) hn= -ha2
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Q33. A unity feedback system is characte

G(S) s(0.55+1){0.2541)
The steady stale errors or tnit-step
a) Oand 0
b) Oand |l
c) land0
d) 1and |
Q34. Master-Slave flip-flop is also called
(a) Pulse triggered flip-flop
(b) Latch
(c) Level triggered flip-flop
(d) Buffer
Q35. A logic circuit that accepts several data inputs and allows only one of them at a time to get
through to the output is called
a) Multiplexer
b) De-multiplexer
¢) Transmitter
d) Receiver
Q36. A cascaded arrangement of flip-flops where the output of one fli
input of the following flip-flop, is known as
a) Synchronous counter
b) Ripple counter
c¢) Ring counter
d) Up counter
Q37. In a series R-L circuit, R is 10Q and L
phase angle 0 between v and i will be
a) tan~'(0.2m)
b) tan~1(0.47)
¢) tan~'(0.6m)
d) tan~*(0.8m)
Q38. Which one of the following statement
a) Itsignifies how rapidly the output 0

frequency of the input signal .
b) It does not change with change in voltage gain
¢) Itshould be smaller for high-speed op-amp applications

d) Itisnot fixed for an op-amp
Q 39. Which one of the following is corTec
a) Input resistance Rj = oo, outpul r-':s'|5t
b) Input resistance R; = 0, output resistance Ro
c) Input resistance Ri = @, output I't!S'lSICLI'ICI;' R",
d) Input resistance R; = 0, output resistance Ro=0

rized by the open loop transfer function

and unit-ramp inputs are respectively

p-flop drives the clock

is 20 mH, if the circuit current is 10sin 314 t A, the

s regarding slew rate is correct?

f an op-amp can change in response to changes in the

orrect for an ideal operational amplifier?
ance Ro =0 and bandwidth =10

— o and bandwidth =0

= 0 and bandwidth =
and bandwidth = o

e law, the algebraic sum of all the voltage in any closed

Q 40. According tO Kirchhoff's voltag
loop of 2 network is always
a) Negative
b) Positive
c) Zero

d) Determined by the pattery emf
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Ans

—————

Answer Key (ECE)

Question No.

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
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